
 

 

REVISION TEST (2017-18) 

SUBJECT- SOCIAL SCIENCE 

GRADE - 8 

Time allotted:                                                                                     Maximum Marks-40 

General Instructions: 

•  Attempt all the questions. 

•  Questions from serial number 1 to 6 are of 1 mark each. 

•  Questions from serial 7 to 11 are of 3 marks each. 

•  Questions from serial 9 & 10 are of 5 marks each. 

• Question number 11 is of 4 marks. 

• Attach the map inside your answer book. 

 

I. V. SHORT ANS. TYPE QUESTIONS                                      (6×1=6) 

1. Name the city which has religious significance due to which it attracts people to settle 

there. 

2. Name any three leaders of the revolt of 1857. 

3. Why is labour easily available in India?  

4. Name the states which share high courts. 

5. Where did the first INC Session held? 

6.  Why the Non-Cooperation Movement was called off? 

7.  

II. SHORT ANSWER TYPE QUESTIONS                                          (3x5=15) 

7.     ‘The revolt of 1857 was a turning point for East India Company.’ Support the statement. 

      8.    “Drafting the constitution for a huge and diverse country like India was not an easy 

affair.”                    Justify the statement.       

       9.     Give reasons: 

a. Commercial farming requires the use of more machines and money. 

b. Agriculture is the primary economic activity in India. 

c. Mixed Farming is practised in highly developed countries. 

      10.   ‘The Fundamental Rights are called the Corner stone of our Constitution.’ Justify it. 

      11.  “The joy of our country’s independence came mixed with the pain.” Justify the 

Statement.   

III. LONG ANSWER TYPE QUESTIONS:                                                 (3×5=15) 
 12 . List and explain changes that were introduced by British after they gained power over the 

country after 1857 revolt. 

13.  Estimate the role of Gandhi ji in the Indian freedom Struggle. 

14. Write a short note on INC and mention its objectives also. 

 

 



 

 

11. Mark the following on Political map of India:    (1X4=4) 

a. One rice producing state 

b. One tea producing state 

c. Kanpur 

d. Place of chauri- chaura incident 
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                               daohra[- popr ³2017 - 18´ 

                                   ivaYaya: ihndI  

                                   kxaa : AazvaIM 

inaQaa-irt samaya 1 GaNTa                                 AiQaktma AMk :40 

inado-Sa : 

1´   [sa p̀Sna p~ ko caar KND hOM  k ÊKÊga AaOr Ga . 

2´   [sa p`Sna p~ ko saBaI p`SnaaoM ko ]%tr donaa Ainavaaya- hO. 

3´   yaqaasaMBava p`%yaok KMD ko ]%tr ËmaSaÁ dIijae.                                      

                                  KND k ³Apizt baaoQa´                                  

1p̀: inamnailaiKt Apizt gad\yaaMSa kao pZ,kr p̀SnaaoM ko ]%tr dIijae.    4 

raoma saMsaar ka bahut hI puranaa nagar hO ijasakI rajaQaanaI [TlaI hO, raoma maoM p`vaoSa krnao ko ilae nadI pr banao saÐkro 
sao pula pr haokr jaanaa pD,ta qaa. ek baar Sa~u saonaa nao raoma pr Aak`maNa kr idyaa. raoma kI saonaa ka ek 
A%yaMt vaIr saOinak qaa. haoroSasa . vah Apnao dao vaIr saaiqayaaoM ko saaqa Sa~u ka maukabalaa krnao ko ilae pula pr 
KD,a hao gayaa. saÐkro pula pr caar Sa~u saOinak sao AiQak ek saaqa p`vaoSa nahIM kr sakto qao.caar Sa~u saOinak 
jaOsao hI Aagao baZ,o haoroSasa nao ]naka kama tmaama kr idyaa. ]Qar raomavaasaI lakD,I ka pula kaTnao maoM lagao hue qao 
AaOr haoroSasa Sa~uAaoM sao yauw krnao lagaa huAa qaa.   

P`a: raoma ko laaoga @yaa kaTnao maoM vyast qao Æ raoma kI rajaQaanaI kaOna saI hOÆ           2 

P`a: saÐkro pula pr iktnao saOinak jaa sakto qao ¸raoma ko vaIr saOinak kaOna qaaÆ     1 

P`a:  saonaa¸Sa~u SabdaoM ko vacana badlaaoM        1 

2p`: inamnailaiKt Apizt pd\yaaMSa kao pZ,kr p̀SnaaoM ko ]%tr dIijae.     

baar−baar AatI hO mauJakao maQaur yaad bacapna torI 



2 

 

gayaa¸ lao gayaa ¸tU jaIvana kI sabasao mast KuSaI maorI. 

icaMta riht Kaolanaa Kanaa vah ifrnaa inaBa-ya svacCMd  

kOsao BaUlaa jaa sakta hO bacapna ka Atuilat AanaMd. 

maOM bacapna kao baulaa rhI qaI¸ baaola ]zI ibaiTyaa maorI 

naMdna vana saI fUla ]zI vah ¸CaoTI saI kuiTyaa maorI. 

vah BaaolaI saI maQaur sarlata¸ vah Pyaara jaIvana inaYpap 

@yaa ifr Aakr imaTa sakogaa tU maoro mana ka saMtap. 

P`a: kvaiya~I kao baar−baar Apnao bacapna kI yaad @yaaoM Aa rhI hOÆ       2 

P`a: kvaiya~I iksao daobaara panao kI [cCa rKtI hOÆ       

P`a:" maQaur" Sabd ka ivaprIt Sabd ilaiKe.         1 

 KNDK ³vyavahairk &ana´                               ³10´ 

3p̀: naIcao ide gae mauhavaraoM ko Aqa- ilaiKe .                                 2                                      

     i´  gaMgaa nahanaa                          

     ii´ galao ka har                 

    iii´  caar saaO baIsa  

    iv´  KUna saUKnaa 

4p̀: inamnailaiKt vaa@ya ka Baod bata[e.                  2  

k´ AapkI yaa~a maMgalamaya hao.      

K´  ek kTaorI dala donaa. 

5p̀: inamnailaiKt vaa@yaaMSaaoM ko ilae ek Sabd ilaiKe.                 2 

  i´     ibanaa vaotna ko 
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   ii´    kma A@la vaalaa   

6p`: inamna vaa@yaaoM ka pd pircaya  ilaiKe.         2                    

i´ laD,ka bahut raoyaa hO.    ³ik`yaa ivaSaoYaNa´ 

ii´  imaza[- svaadiYT hO.     ³ivaSaoYaNa´ 

                                   KND ga   ³paz\ya pustk´                          ³15´ 
p̀:7  inamnailaiKt p`SnaaoM ko ]%tr dIijae                

p̀:1  gavar[yaa nao Qauinayaa ko pasa @yaaoM ga[- qaI ÆAaOr ]sako ilae ]sanao iktnao dama donao ko ilae khaÆ  2 

p̀:2  ' kamacaaor  ' paz pr AaQaairt vyai@t kao Apnaa kama Kud krnao kI Aadt @yaaoM haonaI caaihe Æ Apnao 
SabdaoM maoM bataAao.          2        

p̀:3 badlaU kao iksa baat sao icaZ, qaIÆ        2 

p̀:4 kbaIr ko Anausaar maalaa fornaa ZaoMga kOsao hO Æ         2 

p̀:5  saaÐp nao baaja ko baaro maoM @yaa saaocaaÆ         2 

p̀:6 1857 ko ivad`aoh kI iba`Tona maoM @yaa p`itik`yaa hu[-Æ                    2 

p̀:7   maharajaa rNajaIt isaMh Ad\Baut vyai@t qaoÆ  kOsao ÆApnao SabdaoM maoM ilaiKe.          3 

      KNDGa ³laoKna  10´        

p`:17  ide gae  ivaYaya pr 150 sao 200 SabdaoM maoM AnaucCod ilaiKe Á     5 

³i´ 'pirEama ka mah%va' naIcao ide gae saMkot ibaMduAaoM ko AaQaar pr inaMbaQa ilaiKe. 

pirEama saflata kI kuMjaI¸ pirEama ko laaBa¸ svaasqya ko ilae AavaSyak¸ saaraSaM 

p̀:19 iksaI samaacaar p~ ko saMpadk kao p~ ilaKkr baata[e ik Aapko xao~ maoM  gauMDagadI- idna p`itidna  
baZ,tI, jaa rhI hO.                        5 

                

 



 

 

REVISION PAPER (2017-18) 

FINAL TERM 

GRADE VIII (ENGLISH) 

TIME ALLOTTED: 2 HOURS           MAX. MARKS: 40 

General Instructions: 

This question paper has 4 sections. 

 Read the questions very carefully.  

All questions are compulsory.  

 

       SECTION A (READING)         (6 Marks) 

THE GREAT WALL OF CHINA 

(1) The Great Wall is the world’s longest human made structure, stretching over 

approximately 6400 kms from Shanaiguan in the East to Lopnur in the West. The Great 

Wall of China has been a very important landmark in China throughout history. It was 

remodeled by many historic dynasties of China for several reasons. It was constructed 

for protecting from northern invaders. The Great Wall began as independent walls for 

different states when it was first built and did not become the ‘Great Wall’ until the Qin 

Dynasty. After the unification of China in 221 BC, the first emperor of Qin Dynasty linked 

the walls of the three states in the north and formed the first Great wall. The Great Wall 

that can still be seen today was built during the Ming Dynasty.  

(2) The Great Wall of China is made of granite blocks, stone and sometimes brick. The width 

of the wall could fit five horse riders or ten foot soldiers walking shoulder to shoulder. 

One of the highest points of the Great Wall is 10.5 metres tall. Spaced at regular 

intervals are the watchtowers that appear every 90 – 180 metres. It is a tribute to the 

engineering skills of its builders that all the stone in this gigantic structure were perfect 

squares.  

 

1. Read the passage carefully and choose the correct answer from the options given: 

A. The Great Wall of China that can still be seen today was built by 

(a) Ming Dynasty    

(b) Chin Dynasty 



(c) Qin Dynasty 

(d) Tang Dynasty 

B. The purpose of the Great Wall was 

(a) to unite different parts of China 

(b) to protect China from invaders 

(c) to create a physical border of China 

(d) to display great engineering skills 

C. The Great Wall is made up of 

(a) Bricks and cement 

(b) Stones and mortar 

(c) Granite blocks, stones and bricks 

(d) Marble and mortar 

D. The Great Wall is called so probably because of 

(a) Its importance 

(b) Its great size and engineering uniqueness 

(c) The stone used in making it 

(d) The different dynasties that made it 

E. The most likely purpose of the watchtowers was 

(a) To view different parts of the wall 

(b) To keep an eye on soldiers and their horses 

(c) To view beautiful landscapes 

(d) To keep an eye on enemy movement 

F. The most appropriate meaning of the word ‘remodelled’ is: 

(a) Reconstruct   

(b) Recollect 

(c) Resize 

(d) Revise  

 

   SECTION B (WRITING)                     (12 Marks) 

2. Imagine yourself to be Rahul. Write a diary entry expressing your feelings just before the 

beginning of your final examinations.               (4) 

3. Prepare a speech to be delivered in the school assembly about the role of students in the 

preservation and conservation of environment.               (8) 

    SECTION C (GRAMMAR)         (10 Marks) 

 

4. Fill the following blanks using the correct form of the verb given in the brackets. (5) 

When we (a) ………………. (arrive) at the cinema hall, the movie was over and people  

(b)………........ (leave) at that very moment. We (c)……………….. (understand) at once that  

we (d)................ (miss) the film. My cousin (e)……………..... (become) very frustrated. He 

said that he had been wanting to see the movie for a very long time.  



(a) Arrive, arrived, have arrived, has been arrived 

(b) Left, leaving, were leaving, had left 

(c) Understood, understand, has understood, have understood 

(d) Had missed, miss, missed, will miss 

(e) Becomes, became, had become, has become 

 

5. In the passage given below, supply a Verb in agreement with its Subject.        (5) 

The cost of all the articles (a) …………….. risen. This happened because the jury (b) 

…………… divided in their opinion. They had their own views. One or the other of those 

fellows (c) ………….. their own experience to share. The accountant and the cashier (d) 

………….. also in a disagreement. Some said that ninety rupees (e) …….. too much for the 

bag while the others disagreed.   

SECTION D (LITERATURE)      (12 MARKS) 

6. Read the extract and answer the following questions.                      (4 Marks) 

And swallows calling with their shimmering sound 

And frogs in the pool singing at night 

And wild plum trees in tremulous white 

Robins will wear their feathery fire 

i. Give an example of transferred epithet from the extract above. 

ii. What is the mood in which the above stanza is written? 

iii. Explain the term ‘Feathery Fire’. 

iv. Why are all creatures in peace? 

 

7. Answer any FOUR out of the following questions in about 30-40 words.         (8) 

 

i. Give a description of the streets on which the English Policeman performs his duty? 

ii. Give examples of people who can feel safe under the English Policeman’s ‘protecting 

wings’? 

iii. The poem There Will Come Soft Rains demonstrates that the world still continues 

even when humans are not there. How?   

iv. Comment on the character of the Bishop. 

v. Why is Mr Mead different from the rest of the people living in that century? 

vi. How did Yudhisthira prove to be a just brother? 

 



 
Revision Paper for session (Final Term) (2017-18) 

Topic Covered: 

1. Sound 

2. Metals and nonmetals 

3. Crop Production 

4. Friction 

5. Pollution of air and 

water 

6. Lightning 

7. Earthquake 

8. Microorganisms 

9. Electric current and circuits 

10. Chemical communication 

 

Subject: Science        Date:  

Teacher:     Grade:VIII Section:  

Name of the student:       Max. Marks: 40         M.Obtained: 

 

Read the instructions carefully 

Section A carries 3 questions carrying one mark each 

Section B carries 6 questions carrying two marks each 

Section C carries 5 questions carrying three marks each 

Section D carries 2 question carrying five marks each 

 

SECTION A 

Q1. Which part of ear vibrates by sounds? 

Q2.Malaria is caused by______________. 

Q3.  Define Tilling. 

SECTION B 

Q4.  Name the microorganisms which can fix atmospheric nitrogen in the soil. 

Q5.What are the various pollutants present in air? 

Q6.What precautions must be taken while coming down from a multi-storey building during an 

earthquake?  

Q7.All metals do not corrode. Why? 

Q8.Why is friction considered as “Evil” of all motions? Explain with examples. 

Q9. Write the symbols of first 10 elements of periodic table. 

 

SECTION C 

Q10.Qutub Minar and Taj Mahal are the historical monuments which are deteriorating due to human 

activities. Explain. 

Q11. What is Richter scale? How do we classify earthquakes based on magnitude on this scale? 

Q12.Suppose that there are two samples of water, sample A shows conductivity while sample B does 

not. What are these two samples? What should be added to sample B so that it conducts electricity? 

Q13. 

 
Q14. How can rain water harvesting helps to conserve water? 



 

SECTION D 

Q15. Draw the Nitrogen cycle. 

Q16. Draw a well labeled diagram of internal structure of a dry cell. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 



 

 

 

  

 

 

 

                                                                             jmwq : A`TvIN 

                                         ivSw : pMjwbI 

                                         duhrweI  pRIiKAw -2 (2017-18)         ku`l AMk=40 

    Bwg (a) igAwn Aqy ivcwr (pVHn kOSl) (Axif`Tw pYrHw)                      (2+ 1=3) 

A`j dw Xug pdwrQ-vwdI Xug hY[ies Xug dIAW mSInW ny mnu`K nUM mSIn hI bxw ky r`K id`qw hY [hr ie`k dI dOV 
pYsy mgr l`gI hY[ hr koeI rwqoN-rwq AmIr bxn leI socdw hY[ BweIcwry dI QW suAwrQ pRDwn ho igAw hY [ mnu`KI 
ipAwr G`tdw jw irhw hY [ ijs kol qwkq hY auh mwVy nUM dyK ky ^uS nhIN[ ies leI lokW iv`c eykqw nhIN hY[ dyS 
iv`c jwq-pwq,au~c-nIc dw Byd-Bwv kOmI eykqw nw hox iv`c v`fw ih`sw pw irhw hY[ au~c-vrg, inmn-vrg nUM BYVI 
nzr nwl vyKdw hY[ ies qrHW kOmIAq dw jzbw Alop ho irhw hY[  

  auprokq pYrHw pVHo qy hyT ilKy pRSnW dy shI au`qr ilKo: 

1. A`j-k`lH dy lokW iv`c AwpsI eykqw G`tx dw kI kwrn hY ? 

2. ies pYrHy dw FukvW isrlyK ilKo[ 

                
 (2)    hyT iliKAw Axif`Tw kwiv-totw pVH ky pRSnW dy au~qr ilKo:                  (1.5+1.5=3) 
           

idvwlI mnwE swlo swl,pRdUSx dw r`Ko iKAwl[ 

sBnW nUM ieh AwK suxweIey,AwiqSbwzI nw clweIey[ 

pr ibjlI dw sr&w krIey, koeI nw BYVI vwdI pweIey[ 

pR 1- pRdUSx v`Dx qoN ikvyN roikAw jw skdw hY ? 
pR 2- swirAW nUM kI sunyhw dyxw cwhIdw hY ? 
 
 Bwg (A) ivAwkrn  

(pRSn 1) bhu-ivklpI pRSn                             (4×1=4) 

   1.‘sI’ Sbd dw shI bhu-vcn cuxo: 

a. sn                   A. sW           e. dovyN hIN               

    2. ‘suMdrqw,Arogqw’ SbdW iv`c l`gw shI ipCyqr cuxo : 

a. gqw                  A. suMdr                e. qw          



    3. ‘aujwV ’ Sbd dw shI smwnwrQk cuxo: 

a. sihm                      A. suMnswn                 e. hkIkq 

    4. ‘ihmwlX’ Sbd dw shI Su`D rUp cuxo: 

a.  ihmwlw                      A. ihmwlA                 e. ihmwil 

  

      

 (pRSn 2) sDwrn pRSn                                (6×1=6) 

      hyyT ilKIAW hdwieqW Anuswr au~qr ilKo - 

1. ‘dUroN m`Qw tykxw’ muhwvry dw ArQ ilKo [ 

2. ‘bhuq SrimMdw hoxw’ ArQ dw shI FukvW muhwvrw ilKo[ 

3.  BUqkwl iksm dI ie`k audwhrn ilKo[ 

4.  sQwn-vwck ikirAw- ivSySx dI koeI ie`k audwhrn ilKo[ 

5.  Xojk dw Swbidk ArQ kI hY ?  

6.  sMbMDk dIAW ikMnIAW iksmW hn ? 

Bwg (e) pRBwvSwlI ilKx kOSl  

1.   vD̀dI AbwdI dI s`misAw bwry lyK ilKo[                                               (5)                                                   

2.  Awpxy im`qr nUM grmIAW dIAW Cu`tIAW iek`Ty ibqwaux leI p`qr ilKo[                    (5) 

3.  hyTW id`qy idRS nUM vyK ky 50-60 SbdW iv`c vrxn kro[                                  (4) 

 

Bwg (s) pwT-pusqk 
  1. hyT ilKy pRSn dw au~qr sMKyp iv`c ilKo[         (2×1=2) 

      pRSn 1.- pRBidAwl AYfvokyt qy ausdw pirvwr Cut̀IAW mnwaux ik~Qy gey sn ? 



 

      pRSn 2.- dIpw dw ipqw jI kI kMm krdy sn?  

2. hyT ilKy pRSn dw au~qr 3-4 sqrW iv`c ilKo[                                     (2×1=2)                                                   

        pRSn – ‘nvW cwnx’ iekWgI dw audyS kI hY ? 

  3. hyT ilKy pRSn dw auq̀r ivsQwr nwl ilKo[                                            (3)                                                    

pRSn: AiDAwpk ny pihlW qW dIpw nUM bhuq fWitAw pr bwAd iv`c aus pRqI hmdrdI ikvyN pYdw ho geI?  

       ‘sUrj audws hY’khwxI dy ADwr’qy au~qr ivsQwr iv`c ilKo[ 

4. kdrW-kImqW ’qy ADwirq pRSn:                                                              (3) 

pRSn: A`j-k`lH dy b`icAW nUM Awpxy bzurg mW-bwp boJ l`gdy hn qy auhnW nUM auh bzurg AwSrmW iv`c Byj 
idMdy hn[kI ieh sB kuJ̀ shI hY? qusIN ies gl̀ nwl ikMny ku sihmq ho ? Awpxy ivcwr ilKo [ 

 

 

 

 

     

 

 

 

 

 

 

 

 

 

 



                

         REVISION TEST 

        Final Term (2017-18) 

               Subject: Mathematics 

      Grade: VIII 

Time: 1 hrs                                                                                       MM: 40Marks 

Note: There are 15 questions in a question paper. All the questions are compulsory. Read the 

question paper carefully. 

General instructions: 

Section A consists of 3 questions each carries 1 mark 

Section B consists of 3 questions each carries 2 marks 

Section C consists of 5 questions each carries 3 marks 

Section D consists of 4 questions each carries 4 marks 

 

Section A 

Q1. A person sells an article for Rs 550, gaining 1/10 of its C.P. Find gain percent. 

Q2. The length and breadth of a rectangular field are in the ratio 3:2. If the area of field is 

3456m
2
, find the perimeter of the field.  

Q3.Factorize: 4a
2 

– 4a + 1 1� 3 � 3 

 

Section  B 

Q4. A shopkeeper allows a discount of 10% to his customers and still gains 20%. Find the 

marked price of an article which costs Rs 450 to the shopkeeper. 

Q5. How many bricks of size 22cm X 10cm X 7cm are required to construct a wall 33m long, 

3.5m high and 40cm thick, if cement and sand used in the construction occupy 1/10
th

 part of the 

wall? 

Q6. How many sides has a regular polygon, each angle of which is of measure 108̊? 

                                                                                                  2� 3 � 6                             

 



Section C 

Q7.Shyam deposited 7500 for 6 months in a bank at the rate of 8% interest compounded 

quarterly. Find the amount he received after 6 months. 

Q8 Factorize by using suitable grouping:  4x
2
+2y

2
+x

2
y

2
+8 

Q9 The adjacent figure HELP is a parallelogram. Find the angle measures of P,Q &R. State the 

properties you use to find them. 

                                                      

                              

Q10. Samir bought a shirt for 336, including 12% VAT and a neck tie for 110 including 

10% VAT. Find the printed price (without VAT )of shirt and neck tie together. 

Q11.The measure of angles of a hexagon are x ̊, (x-5) ̊, (x-5) ̊, (2x-5) ̊, (2x-5) ̊, (2x + 20) ̊. Find 

the value of x. 

3� 5 � 15 

Section D 

Q12. A new car costs 360000. Its price depreciates at the rate of 10% a year during the first 

two years and at the rate of 20% thereafter. What will be the price of car after 3 years? 

Q13. i.) Factorize 2x
2
 + 13x + 20 and divide by x + 4 

         ii.) Divide (x2 + x – 56) by (x + 8) 

Q14. An iron pipe 20cm long has exterior diameter equal to 25cm. If the thickness of the pipe is 

1cm, find the whole surface of the pipe. 

Q15. One of the diagonals of a rhombus is equal to one of its sides. Find the angles of the 

rhombus. 

4� 4 � 16 

 



 

 

Revision Paper Term-II (2017-2018)                                                                                                                         

Grade:  8         Time Allowed:2hrs30mins 

Subject: ICT          Max Marks: 40 

  

  Instructions: 

1. Number all your answers carefully. 

2. Give examples wherever possible. 

3. MCQ’s have to be numbered carefully and only the right option has to be written. 

 

Section- A 

I. Answer the following questions in detail:     (4*2 = 8) 

1. Write two characteristics of an unordered list. 

2. Write a short note on PAN. 

3. Explain any four attributes (along with their values) that can be added to the <table> tag. 

4. Name the four properties visible in Property Inspector when you select a frameset. 

II. Do as directed:          

5. What will be the output of the following HTML code?                               (4) 

 

 

 

 

 

 

 

 

 

 

 

 

6. Write the HTML code to create the following table.                                 (4) 

 

Roll No. Name Game 

1 Apurva Mittal Tennis 

2 Khuwaish Verma Badminton 

 

 

  

<ol type=”a” start=”10”> 

<li>January</li> 

<li>February</li> 

<li>March</li> 

<li>April</li> 

<li>May</li> 

<li> June</li> 

<li>July</li> 

<li> August</li> 

</ol> 



  

  

 

      7. Label the following pointed icons in the following picture.                                             (5) 

           

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

8. Look at the following picture carefully and answer the following questions-               (4) 

 

 

a.  Identify the above dialog box. 

b. Name the icon labeled as           in the diagram and write its function. 

c. What is the common term used for the icons labeled as          . 

d. Write any two values of the target property other than the one shown in the diagram. 

 

 

 

 

 

1

2

3 4

5

1 

2 

1 

2 



 

 

 

Section- B 

1. State whether the following statements are true or false. Rewrite the correct statements.       

                                                                                                                               (10*0.5 = 5) 

1) JPEG is the best format for photographs, as it contains 10 million colors. 

2) There are three types of lists that can be created in an HTML document. 

3) The space between the cell contents and the cell border is called cellspacing. 

4) E-governance is the service for buying and selling of products online. 

5) The remote folder of a Dreamweaver site stores the files you are working on. 

6) Rollover link is the color of a link when the cursor is on it. 

7) The frameset file itself contains the HTML content that will be visible in a browser. 

8) You cannot link to a Word or Excel document from a web page. 

9) To display linked content in one frame of a frameset, set the link property of the frame name. 

10) The hub is connected to the NIC by means of switch. 
  

2. Give one word for the following statements:         (10*0.5 = 5) 

1) Expand the term TCP. 

2) The tag that we use to create a definition list item. 

3) Any one attribute of <tr> tag. 

4) The value that the BORDER attribute should have to remove the HTML table border. 

5) A panel that lets you manage files/folders on a local machine as well as on a remote server. 

6) The text that takes you to some other web page when you click on it. 

7) A set of linked documents related to a particular topic. 

8) The key that you press to select the frame in Dreamweaver Design view. 

9) A modem fixed within a computer is known as. 

10) Any one property of <frameset> tag. 

 

 

Section-C 

I. Choose the correct answer (MCQ) :                   (10*0.5 = 5) 

  1. Which of the following is not an attribute of the IMG tag in HTML? 

a) Align    

b) Border 

c) Width 

d) None of these

2. In HTML, LI stands for 

a) Linked Item                  c) List Item 

b) List Image                             d) None of these 

3. The linking of two or more computers so that they are able to exchange information is 

called. 

a) Protocol                               c) Computer Network 

b) ICT                             d) None of these 

4. What are the different types of links possible on a web page or Web site? 

a) Inward links                 c) Scripted links 

b) Internal and Global links    d) Outward link 

 

5. Which is not a part of the Dreamweaver window? 

a) Document window               c) Design window 

b) Panel                            d) Properties Inspector 



 

 

 

6. Which Dreamweaver panel is used for working with web site files? 

a)  Files      c) Frames 

       b) CSS      d) Tag 

7. How can you view the web page in a browser while working in Dreamweaver? 

a) Press F10                c) Press 11 

b) Press F12                d) None of these 

8. What do we call a web page with three frames showing independent HTML files? 

a) Frameset                 c) Division 

b) Regions                  d) Window 

9. A semi-private network that also uses Internet protocols and technology is named as- 

a) Extranet                           c) Network 

b) Intranet                           d) Packets 

10. What is the default value for the SCROLLING attribute of the <frame> tag? 

a) YES                                      c) NO 

b) AUTO                           d) None of these 


